Adding onh 10 to humbers up to 20

7 +1(=_ 13+ 1(=
2 +1C=__ 17+ 10=
2 +10=__ 14 + 1( =
1€ + 10=__ 17 + 1( =
1C + 10=__ 3+ 10=
7 +10=__ 11+ 10=
5 +10= 6+ 1C =

6+10=

12 + 10

19 + 1C

5+ 10 =

0+ 1C =

11 + 10

Score

Wworking Mathematically

1) Sue has 12 cards. She then got 10 more. How

many does she now have?

2) 15 children were playing. 10 more joined the game.
How many children are playing altogether?

3) Mrs Darwa gave 19 children red stickers and 10 children

blue stickers. How many stickers did she give out?
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